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+ AB875
+ B84 N |+ A92
v D98743 1 P
+ B87 K4
29 |+ D106432
& D7653 *4vaSA
vB5 N34134
¢+ AD1053 $34134
nsasav K Wo- - -
3 273
Sid/OW v AD3
+ AKB9
£ AK103
+ AB854 4+ KD102
v K952 v 74
+ D4 + 10753
4B2 » 854
+ 96 *4vaSA
vB1086 N544-2
+ 862 Z 544 ; 2
NIS 4v = 40976 wo
5 + 103
Nord/NS v AKD105
+ KB63
2102
+ AK8654 a9
v 43 v B9B72
+92 + D1054
2 K85 2 A74
« DB72 *4vaSA
v6 N211-2
+ A87 sz
nsisa+1  2DB9S o
7 532
Sid/alle v KD
+ 63
4 KD10965
a97 4 AG
v 109652 v A7
+ 1052 + ABO74
+B73 » AB42
2 KDB1084 4 ¥4aSA
v B843 N2-141
$2-141
+ KD8 sz 14t
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MP
16.3
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9.8
6.6
13.1
33
20.7

33
20.7
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9.8
239
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239
10.9
153

6.6
10.9

44

0.1
21.8

2.3
19.6
10.9
17.4

MP
4.4
0.1
10.9
4.4
153
153
21.8
21.8
153
4.4
21.8
8.8

MP
16.3
2.3
8.8
8.8
2.3
16.3
8.8
16.3
21.8
239
2.3
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Kontrakt Aussp.
S 44 = 9
S 44 = v3
S 3¢ +1 &9
S 24 = 9
N 3SA = *4
S 44 -1 &9
N 3SA +1 *4
N 3sA -1 v2
N 35A +1 2
N 3SA -2 *6
S 4¢ = 9
O 2# X -3 ¥B
Kontrakt  Aussp.
N 3SA +1 410
N 2SA = aK
S 3v = B
W 24 -1 SA
N 2SA = 4D
N 2SA -1 &K
S 49 -3 AN
W 34 -2 ¢A
S 3¢ -2 v2
N 2SA +2 7
N 2SA = a2
S 3% +1  aA
Kontrakt  Aussp.
S 3SA -2 #A
N 3SA -3 49
N 2¢ = 49
S 3SA -2 #A
S 2SA +1 &5
S 2SA +1 A
S 35A = L Y28
S 3S8A = &5
S 2SA +1 A
S 2SA -2 #A
S 3SA = #A
N 2¢ -1 ¢4
Kontrakt Aussp.
S 44 X = 410
S 34 +1 &3
S 44 = v1i0
S 44 = 2
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S 44 X = 49
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S 44 X = v1l0
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Ergebnis
420
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105
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101
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111
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107

MP
7.7
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0.1 12 W 44 +1
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20.7 W 24 =
17.4 W 24 +1
33 W 38 +2
10.9 W 24 +2
239 0 2% -1
10.9 W 24 +2
MP NS Kontrakt
196 2 S 1SA +2
174 1 S 24 +1
131 13 s 2v =
23 12 S 3sA -2
153 11 s 1sAa +1

239 10 S 3sSA =
0.1 9 s 2sa -3
109 8 s 1sa =

21.8 7 W 2¢ -3
66 6 S 3sA -1
66 5 s 3SA -1
66 4 S 3sA -1
MP NS  Kontrakt
19.6 N 2v +1
8.8 S 2v =
8.8 S 2v =
0.1 13 0 3¢ -1
88 12 s 2v =
19.6 11 s 2v +1
88 10 s 2v =
88 9 s 2v =
239 8 N 3v +1
88 7 S 2v =
88 6 S 2v =
196 5 S 29 +1
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174 4 0 2v =

218 3 Pass

239 2 W 38A -2

4.4 S 34 X -2

13.1 13 0 3v =
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77 11 0O 2% +2
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196 8 S 24 -1
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131 6 O 3v =
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4
YA
YA
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¥D
*6
YA
YK
YK
49
YK
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48
SA
SA
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¥D
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46
a4
3
4D
4D

Aussp.
SK
A
v5
YA
v5
4B
¢A
v3
a7
»B
4B
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a2

%D
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43

4D
4
4D
4
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4D
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Ergebnis
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110
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200
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110
140
200
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50
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Ergebnis
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200
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100
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Ergebnis
140
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140
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170
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140

Ergebnis
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420
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101
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108
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33
239
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13.1
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6.6
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13.1
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4.4
6.6
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8.8
0.1
239
13.1
2.3
17.4
17.4
17.4

MP
4.4
153
153
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153
44
15.3
153
0.1
15.3
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44
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6.6
2.3
0.1
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10.9
16.3
16.3
10.9
22.8
4.4
22.8
10.9
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218
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6.6
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112
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114
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5.5
8.8
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1.2
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19.6
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2.3
2.3
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10.9

17.4
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10.9

10.9
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17.4
33
33
17.4
33
17.4
17.4
8.8
17.4
33
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20.7
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7.7
33
20.7
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21.8
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8.8
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8.8
8.8
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8.8
8.8
8.8
22.8
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16.3
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16.3
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3SA +2
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3SA -3
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1sA =
2SA =
2SA
2SA
2SA =
2SA =
2SA =
1sA
1sA
1sA
2SA
1sA
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3SA +2
3sA -1
2¢ +3

3sSA =
3SA +1
3SA +1
3sA =
3SA +2
2SA +3
3SA +2
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SA
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43
A
45
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v7
2
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2
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Aussp.

v5
¥D
v10
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ve6
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YA
&4
46
¥D
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YA
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YA
v2
YA
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v3
YA
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&4
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620
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650
620
620
650
170
620
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Ergebnis
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50
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120
120
120
120
120
120
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Ergebnis
460
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400
430
430
400
460
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460
460
430
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400
150
400
400
460
50
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114
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102
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102
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9.8
9.8

239
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9.8
9.8
19.6

2.3

9.8
19.6

0.1

9.8

MP
6.6
153
4.4
1.2
153
153
153
153
153
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1.2
239

MP
20.7
0.1
23
7.7
13.1
13.1
7.7
20.7
4.4
20.7
20.7
13.1

MP
16.3
10.9
16.3
10.9
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5.5
21.8

5.5
21.8
21.8
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6.6
239
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6.6
6.6
6.6
0.1
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6.6
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8.8
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8.8
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153
21.8
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8.8
2.3
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153
2.3
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6.6
12.0
19.6
6.6
19.6
6.6
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0.1
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14.2
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3SA =
3sSA =
2SA =
3SA
3sA
3SA =
3SA
3sA
3SA
26 =
3sSA =
3SA -1
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34
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3SA +1
1SA +3
3SA =
3SA +2
2SA +2
3SA +2
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1e -2
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1sA =
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a2
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8
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SA
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Aussp.
¢A
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¢A
¢A
10
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¢A
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¢A
\
¢A
¢A
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45
45
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B
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A
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410
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50
50
50
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420
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50
200
420
420
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50
200
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180
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100
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100
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200
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114
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112
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108
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114
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105
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17.4
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2.3
15.3
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8.8
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15.3
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17.4
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0.1
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239
16.3

MP
239
20.7
14.2

6.6
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23
14.2

6.6

0.1

6.6

- N W A S ® e Z

-
- N W

-z
o @

- N W AR TN O

-
N W

- N W R TN O

-
“w

—_ = = 2
S = N @

- N W AR TN O

Kontrakt
44

64

+1
-1
46 +1
X -1
-1

[
64
44 +1
-1
+2
-1
+1

(23
44
(23
44

44 +1

O O O OO0 O O O O O O o

54 =

Kontrakt
44
44 =
6a
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MP
6.6
17.4
239
21.8
6.6
6.6
17.4
6.6
6.6
6.6
17.4
6.6

MP
20.7
7.7
20.7
7.7
153
7.7
7.7
20.7
7.7
20.7
0.1
7.7

MP
0.1
33
9.8
17.4
33
9.8
9.8
21.8
9.8
17.4
239
17.4



25 & 98753
Nord/OW v K8
+9
# AD543
« AD4 4 102
v 1075 v AD94
+ 8653 + AKD107
* K86 % 107
« KB6 %4 VaSA
v B632 N---1-
2 otk
W 4SA= +B92 W-43-4
27 & AKD32
Sid /- v 104
+ K2
» D764
« B974 4 865
v A2 27 v KDB965
+ DB1087 + A6
* K3 S & A5
« 10 * 4 vaSA
v 873 Nt--- -
A ARPPS
OMW 3SA +1 #B10982 5,434

MP
15.0
24.0

1.0
15.0

4.0
15.0
15.0

1.0
15.0
15.0
15.0

6.0
15.0

MmP
21.8
33
33
21.8
17.4
153
10.9
21.8
10.9
33
10.9
33

- N W A 1N O

k2
S = N W &

N W A TN X O

O O O O O O O O == o O o O

O O O O O O O n O O O O

Kontrakt
2¢ +2
2¢ +1
3SA =
2¢ +2
24 X
3¢ +1
2¢ +2
35A =
3¢ +1
3¢ +1
2¢ +2
2SA +1
4¢ =

-2

Kontrakt
34
49 =
49 =
49
48 -2
29
3y
3y
3y
49 =
3y
49 =

Aussp.
v2
»2
46
v2
A
v6
v2
v2
v2
»2
*?2
v3
2

Aussp.
410
410
410
410
YA
410
410
410
410
410
410
410

Ergebnis

130
110
600
130
300
130
130
600
130
130
130
150
130

Ergebnis

50

50

50

420
420

100
140
170

170
420
170
420

ow
113
111
109
107
105
103
101
112
110
108
106
104
102

ow
112
110
108
106
104
102
113
111
109
107
105
103

MP
9.0
0.0
23.0
9.0
20.0
9.0
9.0
23.0
9.0
9.0
9.0
18.0
9.0

MP
2.3
20.7
20.7
2.3
6.6
8.8
13.1
2.3
13.1
20.7
13.1
20.7

26 4 102
Ost/alle v A984
+ 10985
* 643
+ K83 s 975
v 752 v KB
+ ADB6 ﬂ' K74
* B105 * AK972
« ADB64 *4vaSA
v D1063 : - 1 - -
; 328 054--4
O/W 3SA +1 W54--4
28 » D432
West/NS v AK83
+ KB1095
»
a5 s K1087
v DB1076542, v
+ 863 o A742
%2 % A9764
+ AB96 24 vasA
v9 N41-55
+D $31-44
O —
N 3SA 42 # KDB10853 ,, ~ __

MmP
22.0
12.0
24.0
18.0
20.0

4.0
15.0

2.0

9.0

6.0

0.0

9.0
15.0

MP
13.1
23
17.4
2.3
6.6
239
10.9
2.3
17.4
21.8
17.4
8.8

N W A 01 &N 9 O

- N W AR TN O

S Z 0 n =z = 2 n0n =2 non

Kontrakt

1sA =
1sSA +2
3SA -1
1SA +1
2y -1
3y -4
34 +1
3sA =
2y -2

1SA +4
3SA +1
2y -2

286 +2

O Z = = n = 0 n n = = = =

Kontrakt
44 =
5%
44 =
4
44
3¢
3y -2
64

Aussp.
410
410
410
410
5
»B
AR
410
»B
410
410
SA
)

Aussp.
vD
45

Ergebnis
90
150

100
120
100
400
130
600
200
210
630
200
130

Ergebnis
130
200
620
200
100
1240
100
200
620
790
620
50

ow
113
111
109
107
105
103
101
112
110
108
106
104
102

ow
112
110
108
106
104
102
113
111
109
107
105
103

MP
2.0
12.0
0.0
6.0
4.0
20.0
9.0
22.0
15.0
18.0
24.0
15.0
9.0

MP
10.9
21.8
6.6
21.8
17.4
0.1
13.1
21.8
6.6
2.3
6.6
153



